LTR#

514-1J

O—9YU—K—=ILATS1>Y

L
(60°%H2) (60°%Hn) E L1
6-SX/? 6-¢d1
N AN
=i '
#D1|¢ De _//, ¢ Dol g D £ f
%E = =
U-,})
B mm
L 27547 BIE [JR— N7 UYT -
7\774J7'J|*_L£ ;m& Eztiﬁ Nl/? gzkﬁ*gﬁi -E—)“JI* EKE&HE EE
FURE = RS |73VI8&
- Ds . Do Tﬁ—}ll Cr Cor © Co Ma® C Co 175477"‘}}‘ Z7347§H
o3 i)
D R L D; hy | H| L | E [PCDi|PCD: Sx¢ di |U h7 | #1| Nom | Nem | kN - o e o ka | ka/m
LTR 16 52 50 68 3905 | 5 | 37|10 |60 | 32| M5x8 45| 5 | 16 | 6 | 314 | 343 | 706 | 126 | 676 | 127 | 118 | 0.51 1.6
LTR 20 56 0 63 72 435 | 6 |48 |12 | 64 | 36 | M5x8 45| 7 | 20 | 6 | 569 | 559 | 102 | 178 | 118 16.3 | 155 | 0.7 25
LTR 25 62 | -0.007 71 78 53 6 | 55|13 | 70| 45| MmM6X8 45| 8| 25 | 6 | 105 | 103 | 1562 | 258 210 17.6 18 0.93 3.9
LTR 32 80 80 105 | 655 | 9 |60 | 17 | 91 | 55 | M6X10 66|10| 32 | 6 | 180 | 157 | 205 | 34 290 20.1 24 1.8 56
LTR 40 100 0 100 130 | 795 | 11 | 74 | 23 |113| 68 | M6X10 9 |13| 40 | 6 | 419 | 377 | 378 | 605 | 687 372 | 425 | 3.9 9.9
LTR 50 120 | -0.008 125 156 | 995 | 12 | 97 | 25 |136| 85 | M10x15 11 (13| 50 | 6 | 842 | 769 | 609 | 945 | 1340 | 41.7 | 541 6.7 15.5
LTR 60 134 _8009 140 170 115 | 12 |112| 25 [ 150|100 | M10x15 11|13| 60 | 6 | 1220 | 1040 | 735 | 111.7| 1600 | 531 | 684 | 88 | 223
- E)MaE ERICRT £3CR TS VT MEDEEOHMAHEEE—XY METT.
FURE DRG] UHER7EITERIL ROEH SR TS54 vy NEEE COTEERLET .
2 LTR50 K UU ZZ CM +1000L H K R—ILA TS A VEORERRAREICDOWVTIE. B3-121Z 820
-1 T™— T
FURE 77//["] Iilinﬁr‘] BERLS XTS5 VS ox6)
ER={Ca)) TEFLS ) (5)
18T RTF4Y YR—IRTUVIH _ .
RTFAVFINOEH  FUNGER  BhER ATSAVERCT)
(HEDHZERHRRUEL) BRESee) BmEcsSea) (MMERT)
(%2)M3-126388 (%3)AM3-12621R (x4)A3-3028R (x5)A3-3521 (x6)A3-11881 (x7)A3-12188
(% DERE S K JSUUBEE
A3-116 TR L https://tech.thk.com &iEA TV 3U>M3-126 TEX B3-117

crorya—u .



